
OIL FILTRATION PAYBACK ANALYSIS 

Fryer capacity 

Oil life 
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Oil cost without filtration 

� 
litres x Number of fryers 

days I into 365 = 

litres x 

oil changes/year 

changes/year = 

litres 

litres/year 

� 1· per 1tre x litres/year = £ I I......_____ ___. 

Oil cost with filtration (at least double oil life) 

� 
litres x Number of fryers 

days I into 365 = 

litres x 

� 1· per 1tre x

oil changes/year 

changes/year = 

litres/year = £ 

Annual savings 

Oil cost without filtration £ 

Oil cost with filtration £ 

Savings in oil cost/year £ 

litres 

litres/year 

 7 52

10 37


	52: 52
	oil/year: 988
	yearly cost: 4149.6
	yearly cost 2: 2952.6
	savings: 1197.0000000000005
	WITHOUT: 4149.6
	WITH: 2952.6
	litres used: 19
	litres per year: 988
	cost: 4.20
	oil year: 703
	total litres: 19
	capacity: 19
	number of fryers: 1
	37: 37
	litres per year 2: 703


